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Given these preferences as input, the Boston Pool algorithm might proceed as follows:

1. Arkham makes an offer to Dr. Tam.
2. Bedlam makes an offer to Dr. Rotwang.
3. County makes an offer to Dr. Tam, who rejects her earlier offer from Arkham.

. Dharma makes an offer to Dr. Shephard. (From this point on, because there is only one
unmatched hospital, the algorithm has no more choices.)

N

. Arkham makes an offer to Dr. Shephard, who rejects her earlier offer from Dharma.
. Dharma makes an offer to Dr. Rotwang, who rejects her earlier offer from Bedlam.

. Bedlam makes an offer to Dr. Tam, who rejects her earlier offer from County.

©® N O !

. County makes an offer to Dr. Rotwang, who rejects it.

9. County makes an offer to Dr. Shephard, who rejects it.

10. County makes an offer to Dr. Quincy.

Result (A)) (B,£),(C,g), ()
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